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I »pmaregarding w5 RYW noa
a  (mxn NN ) e nwy — valid; mwb ®YY - invalid
b wpra 85w (any other time): 10WY — invalid; WY RHYW — valid (as DNYV)
i Source (for 1mw5 85w 11pra 85w NDI): HYRINWT MR — v. 1, the referent is a 127p that comes from the flock (noa)
1 Question: perhaps this is only if he did n'n%w» DWYY NV’NY, not DWR DV (e.g.)?
(a) Answer: nary (v. 1) extends to intent of any 12p
2 Question: perhaps if he does DwY nY’NY a non-0MdY, it should take on that status (and not n'nYw)?
(a) Answer: had it said nar mnbw), that would be correct, but n%w narY means “any nar 2 ondHv”
3 Question: why not read phrase as (0'n5w) V191 (N21Y) Y93 > only DNV
(a) Answer:'n% is a second %93
(b) Challenge (‘779 7711 37p2 *7): 2*4 953 is more expansive than 1st (15t — only nmrar)
(i) Answer: this follows the »"1 »a71 X1 who allows these non-matched n»552:
4 Therefore: 992 v Y93 — follows leads of %95 = any 127p which is offered 1nwY XYW and is still valid
(a) Challenge: V18 (DY) is 2711 171); this would exclude DwRY nrVN
(i) Answer: nary is not judged as Y521 V191 592, but as a 1129, to extend to (intent for) all map
(if) Challenge: then why not have it follow intent; if he intended pwx = DwWKR?
(b) Answer (2ax “3): we move “eaten” WP to become other “eaten” D*WTp, but not to PYIRI (PRY DWVTP
(i) Block: Dwr) nRYN are eaten
(c) Rather: we don’t move PYaR1n 0'w1p by all to those that are eaten only by B2
(d) Alternate (p2ax 72 >o» ’3): we don’t move 5"pTp to 7"pp, but to other Y"p1p
(i) Challenge: if he intended nnna qwyn, let it be that, thus introducting the % in v. 2
a. Answer: v. 3 stipulates that only the “tenth to pass” can be nnna twyn
2. Challenge: if he intended 7133, let it be that, obviating need for 30, but giving it to 0’113
a.  Answer: M32:0NN2 IWYN via NIay::niay
3. Challenge: if he intended a nnn, let it be that, thus introducing the w5 in v. 4
a. Answer: v.5 indicates that the only way to create a nmnn is through nnn
4. Challenge: if he intended a n1n, let it be a "N — necessitating the 40 1N »nnY
a.  Block: since noa itself doesn’t require onY, how could it’s “remainder” require that?
i.  Challenge: say the same for D% — there we require D201
b.  Rather: n1n amn has no onY; how could noa that became "N 9mn require onY?
ii  Challenge (5577 777 7773): perhaps v. 1 refers to DWR 91mMn, not Noa IMnN?
1 Answer (X37): 180 10 = a 1279 which could come from any jx¥ (9121 1v); DWR is only a ram
(a) Challenge: usually 1n is a limiter (only some of X); here it is being used to expand (all of X)
(b) Defense (721 77): here, too, a 2-year old and a female are excluded (invalid for nm5w)
iii  Challenge (781723 X3 77): v. 1 can’t be about noa 1M, 2w3 oR (v. 6) and 1 R (v. 7) are unneeded
1 Answer: each is needed for its own nw17 -
(a) wax: to extend rule of burning fatty tail to noa
(b) w1 px: to extend rules of YW (0701 etc.) to a “lapsed” noa and oNd>W that come with noa (10 nann)
(c) v o serves as break, to teach that tail of goat is not brought up on narn
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Challenge: we already learned nn5w noa 1mn from v. 1, and from 1’s interpretation of v. 8:

1 9927 ;8% no2: but the noa cannot come from the herd - refers to noa 1Mn

Answer: all 3 are needed:

1 Most obvious auto-transfer to o'ns: if the animal’s age lapsed and nvoa is past

2 Less obvious: if noa is past but the animal is still a yearling (x”70 use for »w noa)

3 Least obvious: if the animal is of age and noa has not yet past (x"1v its still fully fit for nva)

II  17’s quote from »an
Version1: if a nkon was slaughtered nnwni nron 0w (we assume — the dedicatory nxon in r 927n1) — valid

a

d

)

i
ii

Source: v. 9 —loops all mron together
Challenge: 821 repeated this version; ®*v7wn "7 challenged him from w"’s ruling about mnin:
1 All minan that are 1nwH XYW ynpa are valid and count for 0*»ya, unlike nnar
(a) Reason: unlike p>nar, the method of baking supplies the nnwY (type),
(b) Whereas: nonw, nvap and np» 1 are done the same way for all onar
(i) Inference: only because they are baked differently does the intent not affect
(if) However: if that weren’t the case, we would invalidate, in spite of v. 10 — nnann NN nxe
1. And: based on nan’s w11, all mman should be in one grouping

Version2: if someone slaughtered a nkon in order for wm to achieve n193 — valid

i

Reason: no maa for the dead

1 Question: why not just use “nn”; why mention pwm?

2 Answer: to imply that if he brought it on behalf of a modern-day pwni —i.e. 913 nron or y7¥n nrvn (not for
sins) — would be invalid (considered nxvn »21nn)
(a) Challenge: these aren’t really mxon in that sense (should be valid)

Version3: if a nkon was slaughtered on behalf of someone who is nron 27n like pwm (i.e. y7¥n 1) — valid

i

Reason: this is essentially an n5y

Alternate version3: a nron slaughtered npwna nkon owY is invalid

i
ii

Reason: this is an n%y (n%0a - n%1Y DYWY NrOVN)
Question: why not just use 1/ym¥n nron?
1 Answer: he wanted to use the first nxon in history (post nx19n)

27's own extension: if a 29n nron was slaughtered for 0T NRYN or "y nrvn - valid

i

But: a9n nxon slaughtered for ymgn/v 1 nron invalid — these are m5y

Follow-up question (X27): if he slaughtered a5n nxon for the purpose of wTpn nkmv - valid?

i
ii
iii

Lemmal: both sins are n13, considered equal (valid)
Lemma2: a%n carries liability for ny1ap nron, w1pn nrML carries liability for 191 "%y — (invalid)
Note: 8277 12 RNR "1 learned that 21 invalidated all of these (including o7 nxron DwWY 25n nroVn) per v. 11
1 Question (X277 7772 8nX 15 WX “7): how does he understand/read 817's question (above)
2 Answer: he read it as a question about n’9ya mw:
(a) Granted: a 25n nron slaughtered for someone who is liable for 1”y/n7T nron — invalid (777 X017 1712N)
(i) But: if it was slaughtered for ymxn/m — valid (not in the same league of liability)
(if) Then his question: if it was slaughtered for someone who is liable for wTpn nrmv:
1. Lemmal: both are n13 - invalid
2. Lemma?2: 25n is “set nRon” and wIpn nRMY is 711 19w 2 valid —1pn
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